Chapter 3
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(b)  Ftransistors = 9« 8 =16

3.4. The number of transistors needed 1s 16.
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NMur = 05V
NMr =07V
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3:51.

3.52.

LIBRARY ieee :
USE icee.std_logic_1164.all ;

ENTITY prob3_51 IS
PORT ( xI,x2,x3,x4 :IN STD_LOGIC ;
f : OUT STD_LOGIC);
END prob3.51 ;

ARCHITECTURE LogicFune OF prob3_51 IS
BEGIN
f<=(x2 AND NOT x3 AND NOT x4) OR
(NOT x1 AND x2 AND x4) OR

(NOT x1 AND x2 AND x3) OR (x1 AND x2 AND x3)

END LogicFunc ;

LIBRARY ieee ;
USE ieee.std_logic_1164.all ;

ENTITY prob3_52 IS
PORT ( x1,x2,x3,x4 :IN STD_LOGIC
f : OUT STD_LOGIC ) ;
END prob3.52 ;

ARCHITECTURE LogicFunc OF prob3_52 IS
BEGIN
f<=(x1 OR x2 OR NOT x4) AND
(NOT x2 OR x3 OR NOT x4) AND
(NOT x1 OR x3 OR NOT x4) AND
(NOT x1 OR NOT x3 OR NOT x4) ;
END LogicFunc ;



